Programming Design, Spring 2014

Suggested Solution for Homework 02
Solution provider: Michael Hsu

Problem 1 (10 points)

From the message that the number of dollars carried by the soldier can never
be greater than $65,535, we can infer that there are only number of 65536 (216)-
combinations in the game. When the game was being developed, the programmer
might use only two bytes (16 bits) to store the number of dollars. The main reason
why the number of dollars carried by the soldier can never be greater than $65,535
is because of the design of this game. The designer must set the bound of the
money you can carry, or there will be many bugs (e.g., overflow) while playing this
game. But, the cost of memory and hard disk is decreasing with technological

advancements. We do not consider this problem nowadays.
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Problem 2 (10 points)

(a) (3 points)
The program lets user input two characters. If the characters are ‘a’ and ‘b’, the
string “Here. \n” will be printed. If not, “There. \n” will be printed.

(b) (3 points)

The program will always output “There. \n".



(c) (3 points)

1| #include <iostream>
2 using namespace std;
3

4 int mainQ {

5 char ¢1 =0, c2 =0;

6

7 cin >> c1;

8 cin >> c2;

9

10 if (¢1=="4a")

11 {

12 if (c2=="0")

13 cout << "Here.\n";
14 else

15 cout << “There.\n";
16 }

17 else if (¢1=="b")

18 {

19 if (c2=="4a")

20 cout << "Here.\n";
21 else

22 cout << “There.\n";
23 }

24 else

25 cout << “There.\n";

26 return 0;

27 '}

Problem 3 (80 points)
See the file “PD14-02a.cpp”.

Bonus: Problem 4 (20 points)
See the file “PD14-02b.cpp”.



